
Division de Nombres Entiers (C)

Trouvez chaque quotient.

(−396)÷11 =

144÷ (−36) =
864÷ (−18) =
152÷ (−19) =

(−60)÷4 =

1024÷ (−32) =
1368÷ (−38) =
242÷ (−22) =

(−798)÷ (−38) =
(−85)÷5 =

640÷32 =

532÷19 =

(−160)÷ (−40) =
(−665)÷ (−35) =

188÷ (−47) =
(−150)÷10 =

(−306)÷18 =

(−1232)÷ (−44) =
(−7)÷7 =

980÷ (−35) =
(−903)÷43 =

418÷ (−11) =
1450÷ (−50) =
308÷ (−11) =

0÷18 =

1040÷40 =

308÷7 =

(−20)÷ (−2) =
(−832)÷32 =

864÷36 =

(−322)÷23 =

(−100)÷4 =

(−920)÷20 =

(−1530)÷45 =

434÷ (−14) =
80÷20 =

576÷16 =

(−651)÷21 =

1175÷ (−25) =
(−528)÷48 =

184÷46 =

(−160)÷ (−20) =
799÷17 =

760÷40 =

(−60)÷30 =

(−1020)÷ (−34) =
(−42)÷42 =

1305÷ (−29) =
552÷ (−12) =

(−32)÷ (−32) =

112÷ (−14) =
(−550)÷50 =

(−90)÷ (−10) =
210÷ (−35) =

989÷43 =

168÷ (−24) =
(−1225)÷ (−35) =

(−1170)÷45 =

336÷ (−8) =
(−1248)÷ (−48) =

88÷2 =

(−188)÷4 =

506÷ (−23) =
(−812)÷29 =

0÷0 =

1296÷48 =

810÷30 =

(−1334)÷ (−46) =
(−76)÷2 =

(−2009)÷49 =

252÷14 =

589÷31 =

(−1050)÷30 =

1080÷36 =

168÷21 =
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Division de Nombres Entiers Solutions (C)

Trouvez chaque quotient.

(−396)÷11 =−36
144÷ (−36) =−4
864÷ (−18) =−48
152÷ (−19) =−8
(−60)÷4 =−15

1024÷ (−32) =−32
1368÷ (−38) =−36
242÷ (−22) =−11

(−798)÷ (−38) = 21
(−85)÷5 =−17

640÷32 = 20
532÷19 = 28

(−160)÷ (−40) = 4
(−665)÷ (−35) = 19

188÷ (−47) =−4
(−150)÷10 =−15
(−306)÷18 =−17

(−1232)÷ (−44) = 28
(−7)÷7 =−1

980÷ (−35) =−28
(−903)÷43 =−21
418÷ (−11) =−38

1450÷ (−50) =−29
308÷ (−11) =−28

0÷18 = 0

1040÷40 = 26
308÷7 = 44

(−20)÷ (−2) = 10
(−832)÷32 =−26

864÷36 = 24
(−322)÷23 =−14
(−100)÷4 =−25
(−920)÷20 =−46
(−1530)÷45 =−34
434÷ (−14) =−31

80÷20 = 4
576÷16 = 36

(−651)÷21 =−31
1175÷ (−25) =−47
(−528)÷48 =−11

184÷46 = 4
(−160)÷ (−20) = 8

799÷17 = 47
760÷40 = 19

(−60)÷30 =−2
(−1020)÷ (−34) = 30

(−42)÷42 =−1
1305÷ (−29) =−45
552÷ (−12) =−46
(−32)÷ (−32) = 1

112÷ (−14) =−8
(−550)÷50 =−11
(−90)÷ (−10) = 9
210÷ (−35) =−6

989÷43 = 23
168÷ (−24) =−7

(−1225)÷ (−35) = 35
(−1170)÷45 =−26
336÷ (−8) =−42

(−1248)÷ (−48) = 26
88÷2 = 44

(−188)÷4 =−47
506÷ (−23) =−22
(−812)÷29 =−28

0÷0 = 27
1296÷48 = 27
810÷30 = 27

(−1334)÷ (−46) = 29
(−76)÷2 =−38

(−2009)÷49 =−41
252÷14 = 18
589÷31 = 19

(−1050)÷30 =−35
1080÷36 = 30

168÷21 = 8
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